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Phys 131
Spring 2023

Fundamental Mechanics: Group Exercise 1
27 January 2023

Names:

1 Rotating object

Take a rectangular object with three sides of different lengths: a phone is a good example.
Try to flip the phone in such a way that it rotates and does not “tumble.” Try this for three
distinct axes. Is it easier to to this about some axes rather than others? Have you ever
noticed this before? Where? The instructor will provide some assistance.

2 Crawling slug v in m/s
A slug crawls along a straight wire, starting at z = A
0.0m at t = 0.0s. A graph of the slug’s velocity
versus time is illustrated. Use the graph to answer
the following. (1315p2023)

a) Determine the displacement of the slug from ¢t =
0.0s tot=4.0s.

b) How is the displacement of the slug from ¢ =
0.0s to t = 4.0s related to the shaded area be-
tween the graph and the horizontal azis (v = ’ | J | 1
0.0m/s)? o T o e

c) Assuming that the answer to the previous question is true in general, determine the
displacement of the slug from ¢t = 4.0s to t = 8.0s.

§>tinS

d) Is the displacement of the slug from ¢ = 8.0s to t = 10.0s positive or negative? How
might this relate to the shaded area from ¢t = 8.0s to ¢t = 10.0s?
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